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Chemistry 11
Bonding Reactions

Write the electron dot symbol for each of the following elements.

a) aluminum f) sulfur k) zinc p) cesium
‘Al - 'S *Zn* Cs-
b) fluorine g) magnesium ) copper q) mercury
(34 . .
:F ‘Mg * Cur G Hy “Hs
et
c) helium h) lithium m) antimony r) titanium
s [} P
e Li 'Sh* *Sp° T i
d) potassium i) arsenic n) xehon &) krypton
[ re P4
Ka . As ’ :'XC . ;Kr.
’ X [0
e) nitrogen j) scandium 0) astatine t) iron
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. For each of the following bonding reactions, predict the type of bond to be expected. Then, use

electron dot symbols to show the electron change that takes place during the reaction.

a) potassium + fluorine =

Ke + :F ~» X7 o+ R
Jose 1€ 3&20 e
b) magnesium + chlorine =»
5 2% T
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C,O\/a\ (%\+ ¢) hydrogen + sulfur -‘)
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C(JV&QW"‘ d) lithium + arsenic =

-0 3L, - As —> Lt As .

hove te™ show Se | Ly
3
Jomic e) rubidium + oxygen =

2. ng. N :‘O‘ S, Z be N

jog & 30»34 2¢
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Ccv&glwx f) aluminum + iodine <> ' 2
\- oA‘o -1-5,’1' — :-:L.‘:A‘):—l.—:‘
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COVG.M g) hydrogen + phosphorus =»

“¢  sHe o+ P > HiP:H

Shele  shaese H
K3
CO\/O-QMC“ h) calcium + tellurium =»

Car v e >  (azile,
Shave short

2¢” Ze”
e i) sodium + bromine =»
4 ' . T ' .

IO*L le, 5&,.\.’\ ‘e’
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\nic J)  lithium + oxygen =» )
& . _r ‘ .
25 ol b = 2LT - O

lose e 5ain 2¢
S
X2
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onic k) calcium + fluorine =» )
- Cor v 2:E G« 2

lose Z¢” gain le”
w
x2
Covaleni’ 1) hydrogen + selenium =»

0% ZH' v 16"6 —> 'Sé*H
g lg hoe 27 H

X 2
Co\/alm"‘ m) zinc + tellurium =

0'6 —::- 20 T _ e
. Zn ¢ + 4 le ’ __? Zh i [@ 2
S/hau Ze” SI’IM 2
CWO.Qdms h) beryllium + sulfur = .

0 gee + iS5 5 G

shure 2e shane %

ionic o) lanthanum + chlorine =»

o ® 3.’. . '..—
.4 ae +3:Cl s Le¥ o+ Bk
o 37 gpin le)

X3
e p) iron + fluorine =» .o _
{ e

L4 2‘,_ ;
2.2 oF“o - Z_:Ec __> Fe + 2",
DF.Z ’ “"5:{—:‘ — Fe 24 - 5“ .
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; hyd t >
CO\/&M r) hydrogen + an lmo.ny

0.z 3H - Sbr —~ H:SbH

shave | € share 3¢ /

w\/ ’i
x %

lonc 5) potassium + sulfur =

£ 2K+ 'S -~ 2K+
le = ata 2e”
losc. le )
x Z
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W t) boron + nitrogen =» e v
. ¢ 6: . N 4

\.-O .%' + oM' ___>
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COVC‘Q*‘J- u) magnesium + silicon = .

0.6 Z'Mﬁ' - 3 - Mj‘
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fni~ w) ecandium + oxygen =»
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